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The answer is 48

What is the question?
How many questions are there?

Can you find one that no-one else has?
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Read this number
What is the value of the digit, 72
Muliplyy the number by 10,
What is 12 Less?



What is the missing
number?

3  x 80 =240
80 x 3 =240
240+ 3 =80

240 = 80 = 3




sz This is 1 litre of milk.
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% How many millilitres?
v 1000ml

¥ How many mlin half of the bottle?
v 500m|

% My recipe uses 250ml. How much is left?
v 750ml

*# How many centilitres in 2 bottles?
v'200cl




Round these numbers to
the nearest multiple of 10.
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Count up in hundredths.

1.1...
6.51...

10.7...



What is area?



Sentence Stems:

The area is the size of the surface of a 2-D shape.






L wills knowr hour to find, areas by,
counting squares.

Which is the odd one out’?
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L wills knowr hour to find, areas by,
counting squares.
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To find the area we can count the squares within the shape as we know the area is the size of the

surface of a 2-D shape.



1 2 3
4 5 6
/ 8 9
10 11 12
13 14 15

15 squares

T will, know how to find, area by
counhn%squme@.
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1 2 3 4
5 6 / 8
9 10

11 12

12 squares
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6 squares
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Blue=_7 squares

Green=_ 0 squares
Yelow=_06 squares

Purple = 6 squares




L wills knowr hour to find, areas by,
courdlng/squm@s«
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She redlises she carv use her times-tables to calculate the area.
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There are 4 squares in each row.

There are 5 rows. 5 rows of 4 There are 7 squares in each row. There

squares = 20 squares. The area is are 2 rows. 2 rows of 7 squares = 14

20 squares. squares. The area is 14 squares.



1a. Davey is choosing a paving slab to
use to cover the space below. He wants
the slabs to cover the area completely.

A.

Which slab should he use? Explain your
answer.
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Always, sometimes, never?

The area of a square is an even number.

Explain your answer.

This is sometimes true. For example, if a square is 4 squares by 4 squares, the area will be 16
squares. This is an even area. If the square is 5 squares by 5 squares, the area will be 25 squares.

This is an odd areaq.



